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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese. .

1. - Answer as directed : 1x10=10

ORI Tes it

(a) What is the full form of VAM’ ?

VAM’-3 9ffql & ¢

Contd.



(b)) Name the dominant phase in the life
cycle of an angiospermic plant.

NG T SAv T goRt B A & 2

(¢ Name the tissue that supplies
nourishment to developing embryo.

T (AR AN & AR A o
(d) What are the functions of pith ?
HeEg N & 2
(e} What is polyembryony ?
el & ¢

() Flower is a modified root/shoot/leaf.
(Choose the correct answer)

e T Mol /e /AreT FARA |
(o5 Gech! IR Blesam)

(g9 Who coined the term ‘double
fertilization’ ?

‘AT st (I fafeet
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(h) What is scion ?

T T & 2

seed.
(Fill in the blank)

(i) Castor is an

]t Ry e
(AT 3R =3 )
() Root apex contains -
meristem. (Fill in the blank)
ety Ssife T ———— T w6l
QAT | (AT} 3% 979 )
2. Write briefly on the following : 2x5=10
weTe AT SNt i e
(@) Cambium tissue
R el
(b) False fruit
TS T
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(c) Double fertilization

fafRcasw
(d) Korper-Kappe theory
TR ©F

(e) Draw a labelled diagrai*n of a
monosporic  eight-nucleate mature
embryo sac of angiosperm.

NG TR R OB (AT IS <
B TR Hide B st |

3. Answer write notes on any four of the
following : 5x%4=20

weTe WA Ricrear 519519 Tes | (Gt ol 2
(a) Types of ovules found in angiosperm

@AIG! Tfgre ot RS e v
(b) Significance of apomixis

TGS Sieo
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(c) Differentiate between epiphytes and
parasites.

AT TR HREIT TS AN By |

(d) Differentiate between heartwood and

sapwood.

wmmwﬁaﬂ%mwmﬁﬁqﬁw

(e) Differentiate between budding and
grafting.
e SR (SR IR WS AL ol |

(f) Triple fusion
f&-fRcae

4. (a) Who proposed tunica corpus theory ?
Explain the organization of shoot
apical meristem in angiosperms on the

basis of tunica corpus concept.
2+8=10

Ao T ©g (W TRER FRMEE
aeTE) TRE TaR SEe WG ARNAT
sl BT TevieR TS 396 |
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Discuss and enumerate the major
events which occur in the optical
meristems during transition from
vegetative to floral apex. 10

s SR ol ool siote AfReE <ot
w53 OIE TR Y ARTATR Ao
|

(b) Describe the tissues of a monocot
' stem and mention in what respect it is
different from a dicot stem. 6+4=10

TN TR et T Rewd fmt
o9 B T @ PRER (Fae B BRwdl
TR FelT 42|

Or/ 92

What are annual rings ? In what kind
of plants do they occur ? Give at least
two examples of ‘Assam wood’ which
have annual rings. 4+4+2=10
e & 2 @R Tiere T (IR IW?
P Tesle A @R SO FAS 7Y

PTE S TvieRd A TR e iR
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(c) Give a brief account of various types of
endosperms found in angiosperms
with labelled diagrams.

10
fofee Bum Tire eafiGl Tiers oo R[iew
AP T 53 S

'Or/ﬂﬁ?f

What is gametogenesis ? Describe with
diagram the development and
structure of a typical embryo sac.

3+7=10
T (IEe o & ¢ g aft s

TR RPN S Slow It 10|

(d) What is parthenocarpy ? Describe in
brief the causes which may lead to the

development of parthenocarpic fruits.
2+8=10

SR & ¢ SR T [ers g
TR PRFITR <ot 53 R |
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‘Define layering. Describe various
methods of layering used in the
vegetative propagation of plants.
2+8=10
T PN v ol e wkere eeeee
QTS Giel TR [fon @rerR Resd
A
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